SCALE – CALCULATING DISTANCE WITH A MAP 
P 62 in Atlas – Southern Ontario [image: ]
1 cm = 35km
Remember there’s 1000m in 1km.
There’s 100cm in 1m.
So there’s 100,000cm in 1000m(1km).
So… 35km = 35,000m or 3,500,000cm!
[bookmark: _GoBack]Look at the map scale. p. 62 in Atlas shows 1cm on map = 35km on the earth.
If you have 11 cm between cities on the map. I.e. Toronto ---> Ottawa.
So… 11 x 35km = 385km (The distance between those cities.)
11cm on that map (with that scale) = 385,000m = 38,500,000cm on the earth.
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